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• Please check that this question paper contains 32 printed pages. 

• Code number given on the right hand side of the question paper should be written on the 
title page of the answer-book by the candidate. 

• Please check that this question paper contains 42 questions. 

• Please write down the serial number of the question before attempting it. 

• 15 minutes time has been allotted to read this question paper. The question paper will be 
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question 
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tictiWtd mlaTT-11 
SUMMATIVE ASSESSMENT-II 

fcl~ I "1 

~~:3FJrltj 
Time allowed : 3 hours J 

fl/41""4 ~: 

SCIENCE 
[~:iCfl:90 

[ Jt,faximum marks: 90 

(i) ~ >tN-ra cit if~' 'JWT-3f 3ft< 'JWT-~ if~ TTlJT ~I~ iRJ 
~it>rfflit~~g, 
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I 

3 

31/111 

---=::::::::::: -------

(ii) "ffrft WR 31Rcwf g I 

(iiiJ 3TfTNiT 'm7T -31.3/R 'm7T -"81 ~ ~ m ct ~ IJPNi- IJ2Ffi ffffiA g 1 

(iv) 'm7T -31 ~ WR tf&:rr 1 tf 3 ~ WR ~ Jicti ·~ g I ~ ~ t[Cii ~ 312JC/T 

t[Cii CfTCP1 Jt ~ I 

(v) 'm7T-31 ~ WR ~ 4 tf 7 ~ WR rft 3icif ~ g I~~ "ff1T'o/f 30 ~ 

Jt~l 

(vi) 'ifrTT-31 ~ WR ~ 8 tf 19 ~ WR rfR 3icif ~ gl ~ ~ Ff7m7T 50 

~Jt~/ 

(vii) 'ifr1T -31 ~ WR tf&:rr 20 tf 24 ~ WR rif.er 3icif ~ t I ~ ~ "ff1T'o/f 70 

~Jt~l 

(viii) 'ifrTT-"81 ~ WR WYrr 2s "* 42 ~ m 51m'llr4CFJ ~ w 31Tmfur 

4§fctCFJ(Yt{J WR g I ~ WR t[Cii Jicti ~ ~I ~ ~ WR mCFJPif if "* 3TfTNiT 
~ t[Cii ~ Jq'JCffl f¥tw·q ffR1 t 1 

General Instructions : 

(i) The question paper comprises of two Sections, A and B. You are to 

attempt both the sections. 

(ii) All questions are compulsory. 

(iii) All questions of Section-A and all questions of Sectio11-B are to be 

attempted separately. 

(iv) Question numbers 1 to 3 in Section-A are one mark questions. These 

are to be answered in o11e word or in one sentence. 
. 

(v) Question numbers 4 to 7 in Sections-A are two marks questions. 

(vi) 

These are to be answered in about 30 words each. 

Question numbers 8 to 19 in Section-A are three marks questions. 

These are to be answered in about 50 words each. 
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1. 

2. 

3. 

4. 

3111/1 

fl·iiJ Question numbers 20 to 24 in Section-A are five marks questions. 

These are to be answered in about 70 words each. 

(viii) Question numbers 25 to 42 in Section-B are multiple choice 

questions based on practical skills. Each question is a one mark 

question. You are to select one most appropriate response out of the 

four provided to you. 

mrf-3l 

Section-A 

How many vertical columns are there in the modem periodic table and what 

are they called ? 

\Vhat is speciation? 

~-i?n::;fiCf,~Oji'Q '19-TI ~-f211••ftcn~on'Q 314~1~1 ~it~~ c@~1;ff -ij ~ ~ 

~? 

Why should biodegradable and non-biodegradable wastes be discarded in 

two separate dust bins? 

''AAcfl ~ Cfl-8 ~ ~ ~ ~ ~ ~ B11RI'41 .q ~o1*Rll cFi1 ~ m 

Wffi t I" ~-~pfi~.r-niit ~~I 

"The chromosomes number of the sexually reproducing parents and their 

offspring is the same." Justify this statement. 

1 

1 

1 

2 

3 [P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



5. "fcfim m m~ ll ~ q;Tq ~ ~ l'!ld ICfl R ~ lR ~I q f2tC1 CfiT{ >ICfi"m fcRol-w:R ~ 
• 

11~ ~ ~ 410:CH -Rrfu ilcft % I" ~ Cfi~ ~ ~ ~ ~ "i 14 i fcnCi >ICfi"m fcRol ~ 

@fuQ;I 

"A ray of light incident on a rectangular glass slab immersed in any 

medium emerges parallel to itself." Draw labelled ray diagram to justify the 

statement. 

6. ~ >Wl: 3iiC41«l'!l CflTfflR<!:~l ctr 7fiW:IT "it~ 31q~12l cit ~qEIR:Ci ~ ~ ~ 1 ~ 

"3l:fm tl$11$Q; ~ IDD ~cit~ ~~it "fCn ~q~n0 Cfil ~~Y'9)<:R1 PJqc:l{l 

q4Jq(OI ~~ 61RCfl( ~I 

7. 

We often observe domestic waste decomposing in the bylanes of residential 

colonies. Suggest ways to make people realise that the improper disposal 

of waste is harmful to the environment. 

List and explain any two advantages associ_ated with water harvesting at 

community level. 

8. "Q;~ cit 31Tf~ ~ H2S04 ll 443 K <n: TT1f Cfif.t <n: ~ CfT#t ~ Cfil '"ill1 am 

~ flfq"il W R1fulQ;I ~ m~lt~ H2S04 ctr ~Cfil3~;M<Si ~I 
m crrffi 3lf~ Cfil (I~ 1'4 R Cf) w:fiCfl(O I R1 fig Q; I 

311111 

Write the name and the structural formula of the compound fom1ed when 

ethanol is heated at 443 K with excess of cone. H2S04 • State the role of 

cone. H2S04 in this reaction. Write chemical equation for the reaction. 
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9. ~ ~ '41 f?tcn l cf;T wN11 ffl~ ~ q;) ~ ;rm ~ fum TRn %? fcR:ft B4'll rffl~ ~ 

~ m i'Jl4lll(i ~ ~ {IBI~RCfi ~ R1R9l!> <1m~ 4lf?tcn1 ~ ~ mrit cnr 3~@ 

4i)~l!\"*~ (i) ~~wt (ii) UBI~RCfi ~wff.rqfttrCfi~~ 1 

Why homologous series of carbon compounds are so called? Write 

chemical formula of two consecutive members of a homologous series and 

state the part of these compounds that determines their (i) physical 

properties, and (ii) chemical properties. 

(i) ~ ~ ~ 'ffi'q ~ ~ iii&JC14 ~ ~ ~ ~fict?T'"t % crm ~ ~ CfiT 

~(]l ct?fR Cfi fCl ""41 '8 R1 fG l!\ I 

3 

3 

· (ii) ~~~-Bm~~cit~q;)~' ~'3ffi:CfiTCfiRUT R1R9l!>r 

311111 

(iii) ~ ~ ~ ~ m ;mcffi ~ m Cfc'Cf ~I ~ ~ mq1 ~ fctiBCfil ~ 

~~%? 

Given below are some elements of the modern periodic table : 

(i) Select the element that has one electron in the outermost shell and 

write its electronic configuration. 

(ii) Select two elements that belong to the same group. Give reason for 

your answer. 

(iii) Select two elements that belong to the same period. Which one of 

the two has bigger atomic size ? 

5 [P.T.O. 
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11. 311~ 3lTCTif ~ -ij ~ cfiT ~ R1 f@~ I fcrnr 3lTCTif -ij ~ ~ zy:ft ~ ~ 

lR ~ cf;T ft4l\ll<:hctl am~ ~wf -q VfiB >ICllR qftq<f.i -mm ~? fcrnr ~ -q 

~ ~ lR ~ cfiT ft4l\ll<:hct I Wfr ~ -~ -ij fcfiB TcfiR q f(CI<f.i bTm ~? 

12. 

Write the number of periods the modern periodic table has. How do the 

valency and metallic character of elements vary on moving from left to 

right in a period ? How do the valency and atomic size of elements vary 

down a group ? -

(a) ~~ft;q1-ij~~ (~01-J~"l) ~~ 0\QI(.cl;ql cf))Nll!>l 

(b) ~~ c€t ~ \lf.R ~ ~ "5rCfiR f~ ~ ? 

(a) Explain the process of regeneration in Planaria. 

(b) How is regeneration different from reproduction ? 

13. (i) ~' (f?.IT (ii) ~ ~ * wu "if.t cnB it -if~ fi:qf{(1 -wn * ~ 
fC1 f@l!> I 0\Q l(.c>;q I cf))N1l!> ~ ~~T>ICfiR * WTI * ~ c€t i!Cfi~ ~ c€t ~ ? 

Write two examples each of sexually transmitted diseases caused by 

(i) virus, (ii) bacteria. Explain how the transmission of such diseases be 

prevented? 

14. 341Gfct ct"~ (f?_IT 311~~1<:f) ct"~ it ~ ~ crrffi if f4~tt4ctldTI ~ 

diWt<:hi~0$1 cAfull!>l ~ct"~Cfil~ 3~1${01 '41~1 

31/111 

Tabulate two distinguishing features between acquired traits and inherited 

traits with one example of each. 

6 
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1s. "fcflm ~o ~ Cf)T fFrn:n;r B-mrT ~om~ (lffirr q ftlm) ~it fcflm CfiT m 
~ ~ 3-a{c.wofl ~ l1Rl \1fT WMT 1" fcflm ~Cl'Jlld ~ ~ fu7T "R~ cfiT ~ 

q:;) ~~>rcm ~cf;) f!gl~dl it ~q:j~cfit~ c€1~(£1 

''The sex of a newborn child is a matter of chance and none of the parents 

may be considered responsible for it." Justify this statement with the help 

of flow chatt showing determination of sex of a newborn. 

16. (i) ~ ~ ~, om (ii) "Wrl G'frrrt ~ ~ ~ \1fR ~ ~ ~ ~ cnr 

3 

3ttlG 4i'lfqjLU ~~~~'3m cfiT ~ ~ wnr~ CflRUIT cf;1 ~~I · 3 

:-..tention the types of mirrors used as (i) rear view mirrors, (ii) shaving 

mirrors. List two reasons to justify your answers in each case. 

17. 6 em ~Cfil ~~ 5 em~ ~~fcf;m ~ BB~ ~ ~&1 ~ 

~klCI1_BBil10 em~ lRWm%1 BB-W CfiT ~ ~ ~~ m~ 

SlklRikl cfitf?~, ~~~"R~~~ 3 

An object of height 6 em is placed perpendicular to the principal axis of a 

concave lens of focal length 5 ern. Use lens formula to determine the 

position, size and nature of the image if the distance of the object from the 

lens is 10 em. 

18. ~/~om~~~~~quf~ ~~cnr 3<'8@ cfil~l!:l ~~ 

~~t&lt~l 

State the difference in colours of the sun observed during sunrise/sunset 

and noon. Give explanation for each. 

3 
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19. (a) qJf{d~ ~t? ~if~~ct;T~~I 3 

(b) ~ dR11~l ~~ct;T~~~' ~ \J1f!-ilet~IR11 cfiT R~fil<1 ~ 

~ct;T ~lcH~Cfidl malt I~ wt ~I@ I~ I 

(a) What is an ecosystem? List its two main components. 

(b) We do not clean ponds or lakes, but an aquarium needs to be cleaned 

regularly. Explain. 

20. (a) ' Bli let ll C1 ' cfiT llft~ f81 ful ~ I 5 

(b) ~ ~ futBCfll ~ ~ C3H60 t ~if~~ Blilet~cfi q;'t ~ 

@fi:jCf)(~~ Rifut~l 

(c) 34UCR1 GFrt41 MCfll cfiT ~Jlif?T"i-~ ~ &fM ~ I 

(a) Defme the term 'isomers' . 

(b) Draw two possible isomers of the compound with molecular formula 

C3H60 and write their names . 
. 

(c) Give the electron dot structures of the above two compounds. 

21. (a) ~om ~aiTicti ~ ~ \JFR -q fcf~ ~ 'Ciffi cfR B~ (~~ltt<11~) 

31/l/1 

cfil~~l 5 

(b) ~'&~' ~fcf;Bm\Jf.Rm~mffif-qfm~wfu9li~~? 

(a) List three distinguishing features between sexual and asexual types 

of reproduction. 

(b) Explain why variations are observed in the offsprings of sexually 

reproducing organisms? 
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22. (a) ~TTl!:'ffi-ij A, B CJm c q)) q~;:uf.t({ 3fR~~ R1mte£ 1 5 

311111 

(b) ~ ~ Cfl8 Cfffi ~ -q ~am ~l4'+5l ~ pr cnr 3('"M@ ~ 1 

(a) Identify A, B and C in the given diagram and write their functions. 

(b) Mention the role of gamete and zygote in sexually reproducing 

orgamsms. 

9 [P.T.O. 
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23. (a) ~ ifi ~ ifi m11T Cfil 3~<§)@ c.filNi~ I fcfiffi l11Uf11 ifi ~~ 

~4C4d'1 iCfl am ~ <tT mfu ~ ~ ifi ~ ~q -Cflt ~ CfR1T ~ 

R1f@~l 

(b) ~ ifi ~a,:r ~ o~ Cfifq ~ ~qCJJ'"liCfl ~: 4/3 a~ 3/2 ~ 1 ~ Cfit;;r -ij 

~ "c.fil-~ 2X 108 
IDS-It m (i) ~' (ii) ~ -ij ~ cf;T T:.ffi1 WCf 

c.filNi ~I 

(a) State the laws of refraction of light. Give an expression to relate the 

absolute refractive index of a medium with speed of light in vacuum. 

(b) The refractive indices of water and glass with respect to air are 4/3 

and 3/2 respectively. If the speed oflight in glass is 2x 108 ms-I, find 

the speed oflight in (i) air, (ii) water. 

24. (a) ~ ~ -:wR ~it 50 em it enlf ~ "n: it~ flliloql{ 11;f -Cflt "1tf 1:£(9 

<mn I ~ ~-~ Cfil ;wr R1ful~ ~ 7:16 ~~~I ~ ~ "c.fil­

&11<§!11 ifi fu'Q: >fCfim ~ ~ &fMV: I ~ ~ ifi rh 'ff~ ~ cf;T 

~ ~ 1 fcnm 34~Cfd ~ Cfil ~ ~ ~ ~ Cfil 'ffm~ ~ m 

5 

.. 

m-r~~~,~~~~~~eftH~I 5 

31/1/1 

(b) m fllil::qR 1:Bfi 'v:cf ~ctlN'ciH "n: ~-CR it ~mf ~~14'1 ~~I~ m 

~ ~~14<i'lcfif~ R1fui~l 

(a) A person cannot read newspaper placed nearer than 50 em from his 

eyes. Name the defect of vision he is suffering from. 'Draw a ray 

diagram to illustrate this defect. List its two possible causes. Draw a 

ray diagram to show how this defect may be corrected using a lens 

of appropriate focal length. 

10 
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(b) We see advertisements for eye donation on television or m 

newspapers. Write the importance of such advertisements. 

Section-B 

25. ~ -m;r fcR:fi ~ q{e;Hffi-G- 2 mL Q;B1!ZCh-~ ~ ~ "Q,Cn ~ «!fu~q 

~~~~l;jf"i Chl~l fil~lctl ~ 1 ~ Rk1R1R9o ~aJUTCRill~: 

31/1/1 

III. ~ ~ ~ fu11it ~ Tm ~ tTTB" ~ % m ~ fm fcwflll ~ m~ 
~~I 

~~"Btt~aJUT~: 

(A) I, II,~ III 

(B) II, III 3:fR IV 

(C) III, IV~ I 

(D) IV, 1~11 

11 [P.T.O. 
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A student takes 2 mL acetic acid in a dry test tube and adds a pinch of 

sodium hydrogen carbonate to it. He makes the following observations : 

I. A colourless and odourless gas evolves with a brisk effervescence. 

II. The gas turns lime water milky when passed through it. 

III. The gas burns with an explosion when a burning splinter is brought 

near it. 

IV. The gas extinguishes the burning splinter that is brought near it. 

The correct observations are: 

(A) I, II, and III 

(B) II, III and IV 

(C) III, IV and I 

(D) IV, I and II 

26. Q:«\flCfl ~ ~ :fiT~ ctiT ~~ ~ ~ ~ ~ .q ~ fcml~ ~ ~ 

q(tFidl .q ~ 2 mL ~(Oft RCfi ~ "ffirr ~I % ~ q(€Hcll .q ffiWT 2 mL ~ 

filcliCfl~ q(@'1cll CfiT ~ mt11ct1 ~ 1 -BmcRT~~~%~ma:rn-cR~: 1 

(A) Q;Biflct>~~.q~~~~l 

(B) Rlci4'1 ~~~Cf.Tit Tfm~ I 

(C) ~Q:BlRCf)~~~tRW®~I 

(D) ~BIRCh ~\1K1~~tR~Wf~1 

31/111 12 
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In an experiment to study the properties of acetic acid a student takes about 

2 mL of acetic acid in a dry test tube. He adds about 2 mL of water to it and 

shakes the test tube well. He is likely to observe that : 

(A) the acetic acid dissolves readily in water 

(B) the solution becomes light orange 

(C) water floats over the surface of acetic acid 

(D) acetic acid floats over the surface of water 

27. fcfi"m "ffi"5f ~ ~ ~ ~ ;mq ~~it 20% JH~l!A t:l~~lCffil~s ~C1ll"f ~I 

~ IDU ""fR ~ ~ ~ ~&1Uf -;:fRt ~ ~ ~ I 1 

I. fi'lm;qA $1$~TCR1t$s ~311~~ it~ I 

II. ~~ll"$;r~~~l 

III. ~~~lR~~~m<n~1 

IV. >mT ~C1ll'i -ij~ RioH"1 tf;lCfJl~lR~~-;ftffi~~~ I 

~-mft~&1Ul~: 

(A) I, IP:r III 

(B) II, III Cf IV 

(C) III, IV Cf I 

(D) I, II, Cf IV 

31 1 1 13 [P.T.O. 
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A student prepared 20% sodium hydroxide solution in a beaker containing 

water. The observations noted by him are given below. 

I. Sodium hydroxide is in the form of pellets. 

II. It dissolves in water readily. 

III. The beaker appears cold when touched from outside. 

IV. The red litmus paper turns blue when dipped into the solution. 

The corect observation are : 

(A) I, II and III 

(B) II, II1 and IV 

(C) III, N and I 

(D) I, II, and IV 

28. f:lqfaf{ga Cfi~ CfiT ~ cfl~Q>: 

31/1/l 

l. Bl«9)oflCf1<UI 31f'~ ~ 31f'~-llr51.{UT -q ~ R=!c:ti{~ ~ ~ "R ~ ;fTffi 

m~tom~~~-m~~l 

II. BI~Cf1{U131f'~~ 31f'~-fit~-q-;fu;n fB:1oH=l "CBI~'IR~"G 

-q qf{qa"l m irnT o~ ~ "3)UIT~ ~~ t, 

III. BI«9)41Cf1<Ul ~~ ~~-f4~-q~ fB:1cJH'I"CBI~1R~"G 

-q qf{q<f"l ~irnrom~ &~l~ntfl ~~ t 1 

N. B1«9)oflCf1<UI ~~ ~-llr51.{UT-q;{tffi kll4B "CBI~'IR~"G 

-q qf{q<f"l ~irnlo~~ &~l~ntft ~t 1 

14 
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31/1/1 

~ ct>2Hl"ll 'B ~ Cf>?.R ~ : 

(A) I Cf~ II 

(B) II Cf~ III 

(C) III Cf~ IV 

(D) I "Om IV 

Read the following statements : 

I. When a red litmus paper 1s dipped into reaction mixture of a 

saponification reaction, it turns blue and the reaction is exothermic.· . 

II. When a blue litmus paper is dipped into reaction mixture of a 

saponification reaction, its colour does not change and the reaction is 

exothermic. 

III. When a red litmus paper is dipped into reaction mixture of a 

saponification reaction, its colour does not change and the reaction is 

endothermic. 

IV. When a blue litmus paper is dipped into reaction mixture of a 

saponification reaction, its colour does not change and the reaction is 

endothermic. 

Which of the above statements are correct : 

(A) I and II 

(B) II and III 

(C) III and IV 

lD) I and IV 

15 [P.T.O. 
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29. fcR:fi >I!ITrT em enG ~ fu"Q: 31 ICH~Cfl ~ ~ ~ "tl Sll()l I~ 11(.11 it ~q ~ % I 

~ SI~'I~IIC'il -ij ~ ~ ~ ~q t I~~ C1)) ~ ~HCfll ~ -ij ~ 

3I/I/1 

lR >I!ITrT ~ fu"Q: -3'1 t<:Fl~Cfi ~ ~ ~ ~ I 

(1) Cl;f;B~q~ 

(3) ~~~q CR'11:ci~:S 

(5) «lfu~q ~~~{1\ll<i CfltJi~c: 

(A) I, 2 Cf4 

(B) I, 3 Cf 6 

(C) 3, 5Cf 6 

(D) 2,4Cf 5 

(2) 

(4) 

(6) 

mfu<:~w~c 

4ll~l~q~ 

~~;ft~1~q Cffli:CI~:S 

Hard water required for an experiment is not available in a school 

laboratory. However, following salts are available in the laboratory. Select 

the salts which may be dissolved in water to make it hard for the 

experiment. 

(I) Calcium Sulphate (2) Sodium Sulphate 

(3) Calcium Chloride (4) Potassium Sulphate 

(5) Sodium Hydrogen Carbonate (6) Magnesium Chloride 

(A) 1, 2 and 4 

(B) 1, 3 and 6 

(C) 3, 5 and 6 

(D) 2, 4 and 5 

16 
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3o. -,..;1 ~~m.q~ ~~~~~ Slrn~kl ~~ ·x·~mu~ 
·s' lR >rrnfcfim I ~~cfil~~~~ 40 em~' ID f.:iHfaf{ga-ij ~ mftq;~ 

~I 

~40cm 

{A) ~X ~"ffift, NlBcfi) ~~ 20 em~ I 

31 1 1 

(B) ~X~Gtful~ ~Bcfi)~~ 40 em~ 1 

(C) ~X ~Gtful~ N1e41'1 ~~ 40 em~ I 

(D) ~x~"ffiftN'l~cf)~~ 40cm ~~ 

A student focussed the image of a distant object using a device 'X' on a 

white screen 'S' as shown in the figure. If the distance of the screen from 

the device is 40 em, select the correct statement about the device. 

-40cm l 
(A) The device X is a convex lens of focal length 20 em. 

(B) The device X is a concave mirror of focal length 40 em. 

(C) The device X is a concave mirror of radius of curvature 40 em. 

!D) The device X is a convex lens of focal length 40 em. 

17 
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31. ~ ~ ~ ~ ~ ID\1 SPi'PI~IIMI-~ ~ ~ fm: T:R 00 ~lJOiishfl ctT ~ 

Clil W&-"Uf Sl R1 Rl k1 ~ T:R >m1 fcfim 1 ~ ct1 ~ ~ Clil 3ffi 3T-Cm liR >rm ~ ~ 

~ m~ ~ ~ '3B ~mm :qq<:hl#J ~ w~ ~ cn1 4">1Cfirnd ~ cnr 

~-rem~~~cn1CFn"Ch8T~? 

3111/1 

(A) '3B ~ cn1 ~ 'B ~ Bm""..fT ~I 

(B) '3B ~ cn1 ~ ~ CfiT3Ttt B\CfiHT ~I 

(C) '3B~n2IT~~Cf,) ~~~;ro,~cft 3ffi B{CfiHI ~I 

(D) '3B ~ ~ cn1 ~ ~ ~ ;ro, ~ ctT 3ffi B{CfiH I~ I 

A student obtained a sharp image of a burning candle, placed at the 

farther end of a laboratory table, on a screen using a concave mirror. For 

getting better value of focal length of the mirror, the subject teacher 

suggested him for focussing a well illuminated distant object. What should 

the student do? 

(A) He s~ould move the mirror away from the screen. 

(B) He should move the mirror slightly towards the screen. 

(C) He should move the mirror as well as the screen towards the newly 

selected object. 

(D) He should move only the screen towards the newly selected object. 
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1 

32. cfR w~ 31N(R CfiTuiT ~ ~ CflT:q iT~~ >rcFim mur Cf)T q~ 31~{R9a ~ 

~ ~ ~ ~ ~ d~41 ~ cn1uT r -om -Arm cn1uT e ~ l1R1 cit lTil1T ~ 

3111/1 

~~~diR-!Cfll-ij~fcrnr: 1 

~"B&n 

I 

II 

III 

~@~a.lUT%: 

(A) rc~· II 

(B) IICHII 

(C) ICHII 

(D) I, II Gf III 

Li Lr Le 

. 30° 20° 31° 

40° 25° 40° 

50° 31° 49° 

After tracing the path of rays of light through a glass slab for three different 

angles of incidence, a student measured the corresponding values angle of 

refraction r and angle of emergence e and recorded them in the table given 

below: 

S. No. Li Lr Le 

I 30° 20° 31° 

I II 40° 25° 40° 

III 50° 31° 49° 
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The correct observations are: 

(A) I and II 

(B) II and III 

(C) I and III 

(D) I, II and III 

33. q;fq ~ 3il4dl<:fiR ~ ~ ~ qrRt ~ ~ q;r li21 3i~{f@d CiiG ~ ~ ~ 

eft rr:ft ~311 -ij ~ wf~ ~ ~ 'ffi i? I 

p 

(I) (II) 

(III) (IV) 

(A) I 

(B) II 

(C) III 

(D) IV 

31/111 20 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



3111/1 

'--

Select from the following the best set-up for tracing the path of a ray of 

light through a rectangular glass slab : 

(A) I 

(B) II 

(C) Ill 

(D) IV 

(I) 

I 
I 
I 
I 
I 
I 

(III) 

• 

(~ 

(~ 

(II) 

(IV) 

. 

. 
21 [P.T.O. 
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34. q;fq ~ ~ ~ ~ cOOt ~ fcRur q)f 11~ 3i~{f@a ~ CfiT w:Wr ~ ~ 

;:ffi ~ ~ ~ ~ -ij ~ fcRur <r~ Frfu ~ ~ ~ ~ ~ -rro: W1 ~ 

~I 1 

(I) (II) 

(III) (IV) 

(A) I 

(B) II 

(C) III 

(D) IV 

311111. ·~ . 22 . 
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311111 

While performing the experiment to trace the path of a ray of light passing 

through a glass prism, four students marked the incident ray and the 

emergent ray in their diagrams in the manner shown below. 

(I) 

(ill) 

The correct path of the rays has been shown by : 

(A) I 

(B) II 

(C) III 

(D) IV 

23 
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(IV) 
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3s. ~ Cf1Tur ~ ro'lffll1Rl ~ ~ ~ ~ ~ it ~ crR'ft ~ mur cnr tf~ 

3i~{fu!C1 ~ ~ ~ -ij ~ ~ ~ ~&lUT cWrr fcfi "Rrrn mur : 

(A) ~~~BqHiC~I 

(B) ~~~('1k4qei~l 

(C) 3i4C!Rfu ~~ Bql'"d{~l 

(D) ~~cRt~ it fcfmt Cf1Tur 1R ~ \ll'1'"ffi ~ I 

In an experiment to trace the path of a ray of light through a glass prism for 

different values of angle of incidence a student would find that the 

emergent ray : 

(A) is parallel to the incident ray 

(B) perpendicular to the incident ray 

(C) is parallel to the refracted ray 

(D) bends at an angle to the direction of incident ray 
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31/1/1 

(I) 

(II) 

(III) 

(IV) 

~ 3l100 CfiT ~ ~ "ffi:r ~ ~ it ~ ~ ~ CflT ~ 'q~ ~ 

llmi: 

(A) ~IICflll 

(B) ~ICfii 

(C) I, II cr III 

(D) I, II Cf IV 

1 
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Study the following ray diagrams : 

(I) 

(ll) 

(III) 

(IV) 

The diagrams showing the correct path of the ray after passing through the 

lens are : 

(A) II and III only 

(B) I and II only 

(C) I, II and III 

(D) I, II and IV 
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37. 3litG -q ~ -rrm ~ ~ fcRurt -q -B ~ ctH fcRoit em~ 7511 ~ it 
t.mm Cf)T ~ Cf>1: wr% ~ mcnr ~ sm1 ~ mn ~ Slrn~kl c€t W'~ ~ 

311111 

coG -ij ~ ~ Wflffi ~ : 1 

(A) 1, 2 q- 3 

(B) 2, 3 q- 4 

(C) 3, 4 q- 5 

(D) 1, 2 q- 4 

Out of the five incident rays shown in the figure find the three rays that are 

obeying the laws of refraction and may be used for locating the position of 

image formed by a convex lens : 

(A) 1, 2 and 3 

(B) 2, 3 and 4 

(C) 3, 4 and 5 

(D) 1,2and4 

27 [P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



38. ~~ ~os"l ~~~cfilfcfil:ft~CfiT~&lUTq;8~wmr~~~ 

~ ~ ~ 3l1W ~, \iiT "3fuo Sfjq-q m ~ ~ ~ = 

®@ 
(I) (II) (III) (IV) (V) 

(A) I, V, IV, III, II 

(B) I, III, IV, V, II 

(C) I, V, III, IV, II 

(D) I, IV, V, III, II 

A student after observing a slide showing different stages of binary fission 

in Amoeba draws the following diagrams. However these diagrams are not 

m proper sequence : 

(I) (II) (III) (IV) 

The correct sequence is : 

(A) I, V, IV, III, II 

(B) I, III, IV, V, II 

(C) I, V, III, IV, II 

(D) I, IV, V, III, II 

31/111 28 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



39. 

3 I/111 

~"ij ~~~H ~~~~~Cfi~~: 

I. ~ fi:i~Cf11;q ~~~\Wf~~~l 

II. ~ Chl~lcnl m ~ Chl~l?.hl3it it fcf~ mm t <rm ~ ~ ~ 

~m~t1 

III. rq~Cf)l;q~~~-6R~~~~~~~~il 

IV. ~CfiTt~ fli~Cf)l;q ~~~m~t~~~~~~t1 

(A) I, II Cf III 

(B) II,III"CfiV 

(C) III, IV"Cfi 

(D) IV, I"Cfii 

Select the correct statements for the process of budding in yeast: 

I. A bud arises from a particular region on a parent body. 

II. A parent cell divides into two daughter cells, here the parental 

identity is lost. 

III. Before detaching from the parent body a bud may form another bud. 

IV. A bud when detaches from the parent body grows into a new 

individual. 

(A) I, II and III 

(B) II, III and IV 

(C) III, IV and I 

(D) IV, I and II 

1 
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4o. ~ ~ ~* ~ ~'Q ; mu&m ~ ~ ~~ ~ 3TI'QR 1:J\ ~ Cflan ~ ~ 

~ fclf~ RG:ht<lf CfiT arur:R chlN=itJ: : 

I. ~~~ICfl(ch~~~~WTtl 

n. ~~womlff~~w~m-q~W"Ti1 

III. ~~ w~ =t:t4111(!9l ~w~3ft-q~ -WTt 1 

IV. ~~~ o?-11 ~~(~2:1 (-301~H~t1) CfllmiR~ -q~ Wl"i I 

~"Btt~i: 

(A) I cr II 

(B) II cr IV 
·~ 

(C) 1 cr 111 

(D) TTl cr IV 

Study the different conclusions drawn by students of a class on the basis of 

observations of preserved J available specimens of plants and animals. 

I. Potato and sweet potato are analogous organs in plants. 

II. Wings of insects and wings of birds are homologous organs m 

animals. 

Ill. Wings of insects and wings ofbats are analogous organs in animals. 

IV. Thoms of citrus and tendrils of cucurbita arc analogous organs in 

plants. 

The correct conclusions are : 

(A) J and II 

(B) JI and IV 

(C) I and III 

(D) III and IV 
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41. ~ ~ ~ ~ ~ ~ ~ ~ "Cfl{ ~ TP-ft tf~ ~ ~ TTTW, ~' 

~ICflF:f>~, ~om~~ I~~ Gl cHf4fd q8'iiiR({ ~ f!C1\J11ct ~3il ~ 

~~Mct~~~ 

(A) ~-w.n~ 

(B) ~omc;:rR:\ 

(C) ~o-m !:liCfl\eh~ 

(D) ~om~ 

You have potato, carrot, radish, sweet potato, romato and ginger bought 

frvm the market in your jute bag. Identify two vegetables to represent the 

correct homologous structures. 

(A) Potato and tomato 

(B) Carrot and tomato 

(C) Potato and sweet potato 

(D) Carrot and radish 

1 
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1 

c 

(A) ~' '{~i~( o?.TT4ht454 

(B) 'i~i~(, ~ o?.TTiift\iiq~ 

(C) ~' iift\iiq~ om zt~i~{ 

(D) zt~i~{, 4"l\iiq51 <ml ~ 

In the figure, the parts marked A, B and C are sequentially : 

c 

(A) Plumule, Radicle and Cotyledon 

(B) Radicle, Plumule and Cotyledon 

(C) Plumule, Cotyledon and Radicle 

(D) Radicle, Cotyledon and Plumule 
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